Biology 4605 / 7220 Name Kf’ V4
Worksheet - Single variable — Random or Fixed? Yr2021 Exte?éion of Yr2020 A3

2. Transition from crawling to walking occurs over a period of weeks. Does the reported age
at which babies first walk depend on the person doing the scoring?
Design a study to investigate this for one of the control groups.

2a. Choose one of the control groups and give a reason for your choice. [2]
(1) 12 minute/day of unstructured exercise; — [ 22a4 re uivements O rmattNn
(2) no exercise and a weekly parental report; <~ hagsT” r€quive ments, o3t inform
(3) no exercise and a single parental report at the end of the study. few peguivements

s ome [u{orm:h’o‘h

2b. Several scorers need to be hired. As well, a certain number of babies need to be
assigned to each scorer. Increasing the number of scorers costs more than increasing the
number of babies. Assuming a similar number of babies (approximately 24) in the follow

up study, make an allocation of babies to a defined number of scorers. [3]
Number of scorers. N 24
Number of babies/ scorers _24 1
Total babies 24 24
Describe how you chose this allocation. [2]

2 bathes 12 Saovers = /a;(jes‘l" :am/o/e) /((Ajéfféoﬂf
R babiea 3 scovevs — Minimum Sdwuple , [oah cosd”

Complete the listing of variables table, for the follow-up study. " (8]
Name Symbol Resp/Explanatory Type (NOIR) Rand/Fixed

/Jj e A Reapouse _Ratio
Scover _Se f—‘,x'o/am ?‘N'y Nominsl Either

2c. Scorers: Random or fixed factor?
Justify your choice.

Rauvdomr -~ fu/ét Yol pﬂpwé—l‘rbh oé/ Scoyery
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2d. Write a GLM, using A for age, and your symbol for the explanatory variable.. [5]

A = L7178 S. t&

[2]



